a(0 @) (raqd)

1072

Ratio

SICEWATL

1072

Ratio

Ratio

=
<

o p/p.)

a(d cot(d))

: . ; 107k
seedbeegecte Feeees - [
(TS 107k

R L LR ] -

tes {1 BH- " 42 4 -

] dp<1NR " -

EAIHH I

MALMARREA AR TARAARARAR T RARARARARITAR AN AN A N 1073k

1.z

1.1

0.9

iy
TITTTTTH T TTTT

T
| et
N
|
N
o

-2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch1l

z

oo a,) (cm)

1072

12

iy

=

[EEN

o
&

1.2

Ratio

0.g!

W

W

2 -1 0 1 2 3 83— =21 o0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

,_.
<
L

1072

=

1.4
12

iy

0.g!

W

2 3
TP n (PCA to beamline)



	Contents
	Page 1


